Hib Btk IR @

M A0¥2 ¢ B Y R0,
BLrn,tt, @o A28 e @Rm:ﬂﬁﬁ'é’wﬁ 1=, 30me93,
BAnBE ¢ 30xex3le kR 34 f%’iﬁ_qga)(;@ﬁyma
30x2=bowm ¥ LZLE,2ERH,
S, oM T 60w Lo 5 581 60 :30=2m,
EP EQr D UEE,2 %0 HE 2m,
EPr3 AT B E TR bUe R.2< 30 - 2004%5 pPAakrds
& piMYo BEE |Bd3or, 2400 A TH3,
12,345,628, 10,12 15,16, 20, 2430 4048,60, 80, 120, 240 4%
WPl BERS B B3,
(sUEP LR g PT EP1F0 t KEvok b4
FPEmTs I RT3 113 3o byt o9 < B BB HPI,
Fo BppPPEIDE3rE, 4048, 6080 10,240 TP

5o Ml 2130, PTOPRINEZIZ,
apee %0, Qb |20, 60, 249,480 T B,

MR = ¥Ex o kb, Ffo¥Re, 4048, 60,3 122 240 may BB,
¥237 @A o @ﬁ 3 BDXBO(*B\RGP;%‘J:QOO z
OpofABig, 40 - [6o0, 49648 <2304, oxbo = 3600, Soxbo= 692,
[20% |20 = [44(0, 240x240 <5700 T IP Tn P,

TS ¥ Ao MECH3 Qooxb =450 Kz,

28 (V7 Qoo x |0=Qopoo %;4%,

;mﬁﬁ\tu Z w3 BTPo ¥ 2y 80 0o, PoIME, Wx2i=504)

(D‘%@J ¥ o) T “5%E 3 LE PR &2

28,0 R R b5 29-Fe L2, Bl Rl 1 0 RBE 1333011
Ep1z 4047, (28, 207D, Sars 3o, 6%’5,(?0&“’7, Lo A .

o0
b, 2 3 [[0H%
(2) XY=80x2= 160 T, XW:WY=3:| ®b5
WY=40, AB= 80 - (30 +40) =[[0}n.




	過去問解説\
	2018090621.jpg


